wave'n**dry**®

Wave'n Dry® Electronic Touch-Free Dispensing System



WausauPAPER®

wave'n**dry**®

ELECTRONIC CONVENIEN



The Wave'n Dry® dispenser is a pioneer in the touch-free towel dispensing market. With no levers, buttons or cranks, the Wave'n Dry® dispenses a single towel at the wave of a hand, ensuring that the only thing you touch is your personal towel. Towels are stored fully protected inside the dispenser until you request service, which is particularly important in public washrooms, food preparation areas and healthcare environments where prevention of cross-contamination is critical.







PERFECT FOR TODAY'S AUTOMATED WASHROOMS

The Wave'n Dry® is a breeze to operate. Simply wave your hand or arm under the sensor to dispense a single pre-measured towel. Reliable operation and features to extend the time between maintenance cycles improve operational efficiency.

INSTALL VIRTUALLY ANYWHERE

The Wave'n Dry® does not require external electricity or wiring so it can be located virtually anywhere. An available water-resistant model is perfect for food prep areas. The Wave'n Dry® can be adapted to fit securely in existing stainless steel recessed units.

VERSATILE

Tailor dispensing options to meet your facility's washroom requirements using the adjustable settings. A variety of towel grades and lengths provide multiple options to fit a range of preferences and budgets. The Wave'n Dry® is available in five translucent colors to complement any facility's design, and can even be imprinted with a company name or logo for a unique, coordinated washroom experience.



ADA Title III Compliant

The Wave'n Dry® is ADA Title III compliant when installed according to the guidelines outlined in the ADA Standards for Accessible Design. Paper is easily dispensed with one hand, with less than 5 lbs. of force and without tight grasping, pinching or twisting of the wrist.

ICE FOR AUTOMATED WASHROOMS



The Wave'n Dry® helps improve hygiene

TOUCH-FREE The towel is stored fully protected inside the dispenser until you request service; you touch only your personal towel, greatly reducing the risk of cross-contamination

REDUCES BACTERIA Paper towels reduce the number of bacteria on hands, unlike warm air dryers which can increase and spread harmful bacteria in the washroom

HAACP The touch-free design supports the principles of HACCP (Hazard Analysis and Critical Control Point) as an important preventative measure in avoiding cross-contamination



The Wave'n Dry® is environmentally preferable

CONTROLS USAGE Metered dispensing of one pre-cut, pre-measured towel and an adjustable built-in delay discourage waste

GREEN SEAL™ CERTIFIED TOWELS A variety of 100% recycled Green Seal™ certified towels are available in lengths of 630, 800 and 1,000 feet

INNOVATIVE TRANSFER ROLL Built-in transfer roll feature eliminates stub roll waste and reduces service interruptions; a new roll starts only after the stub roll is depleted

RECYCLED CONTENT The Wave'n Dry® contains a minimum of 25% post-industrial recycled content



The Wave'n Dry® controls costs

PRE-SET TOWEL LENGTHS Tailor dispensing to your facility's needs by choosing a pre-set towel length of 8, 11, 16.5 or 22 inches

HIGH CAPACITY ROLLS High capacity supplies of up to 1,000 feet improve operational efficiency

ADJUSTABLE SETTINGS Choose the optimal settings for delay between cycles and sensor sensitivity to conserve paper while meeting user needs

LOCKING COVER Prevents pilferage and waste

MAINTENANCE AT A GLANCE The translucent cover saves maintenance time as staff can see at a glance when it is time to refill the dispenser

CONTROLLED-USE ROLL TOWEL DISPENSERS

No./ Translucent Color		Name	Dispenser Size (W" x H" x D")	Dispenser Weight	Case Size (W" x H" x D")	Dispenser Case Cube	Cases/Unit
80010 75010							
80030 75030							
80040 75040	E	wave'n dry ®	12 x 15% x 10%	8.2 lbs.	16% x 12% x 12%	1.42	48
80050 75050							
80060 75060							
80020* 75020*	* Water Re	sistant					4.77

WAUSAU PAPER OFFERS A COMPLETE LINE OF PREMIUM AND 100% RECYCLED CONTROLLED ROLL TOWELS, INCLUDING GREEN SEAL-CERTIFIED DUBLNATURE® AND ECOSOFT™ PRODUCTS.



No.		Name	Color	Roll Width	Feet/Roll	Rolls/Case	Feet/Case					
CONTROLLED-USE ROLL TOWELS - FOR USE WITH 800 SERIES WAVE'N DRY®												
31040		DublNature®	White	8"	1,000	6	6,000					
31000	ERRITE STATE	EcoSoft™	Natural	8"	1,000	6	6,000					
38040	SEATURE OF THE PROPERTY OF THE	DublNature®	White	8"	800	6	4,800					
31400	SERVICE SERVICES	EcoSoft™	Natural White	8"	800	6	4,800					
31300	Seattle State	EcoSoft™	Natural	8"	800	6	4,800					
31900		EcoSoft™	White	8"	800	6	4,800					
06308		DublSoft®	White	8"	630	6	3,780					
31600		EcoSoft™	White	8"	630	6	3,780					
31500		EcoSoft™	Natural	8"	630	6	3,780					
36040	SEATTLE STATE	DublNature®	White	8"	600	6	3,600					
CONTRO		JSE ROLL TOWEL	S - FOR USE WITH 700 SE	RIES WAVE'N DR	Y ®							
71040		DublNature®	White	7½"	1,000	6	6,000					
71000		EcoSoft™	Natural	7½"	1,000	6	6,000					
78040		DublNature®	White	7½"	800	6	4,800					
71400		EcoSoft™	Natural White	7½"	800	6	4,800					
71300		EcoSoft™	Natural	7½"	800	6	4,800					
71900		EcoSoft™	White	7½"	800	6	4,800					
06307		DublSoft®	White	7½"	630	6	3,780					
71600		EcoSoft™	White	7½"	630	6	3,780					
76040		DublNature®	White	7½"	600	6	3,600					

Availability and specifications are subject to change.

WND-001/0413-10M ©2013 Wausau Paper



